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5% 086 26,400 54% | B:27.400, A:27.100, 1:28,100, H:29.100 26,600, 1:26.400, H:27,400
BEE(PE) - NGB ERE (hE) 26,000 43% | B:25,000, :27,500, %:21,400, T H:23,600 21,000, T H:22,200
,500 42% 25,500, 7:28,000, £:23.400, + H:23,600 1+ H:22.200
,800 55% 21,000, :21,500, 7K:20,000, 7:23,000 119, A:20.900, £:18,700
800 55% 1,000, X:21,500, m:ZO 000, 5:23 000, £:33,000 | X 1:19.900. I 20,900, £:32,500
PR GIRER) ,000 65% 17,800, A:17.200, £ 1:17.400, H:17,.900 £:16.400, 1:17.300, H:17.800
,800 50% 1,500, K:22,200, 1:22,900 21,500, 7K:21.100, :20.100
600 | _48% —
,700 59% | A:21,500, £+ H:23,600 9,400, £+ H:22.200
FEL=;h 48 (R ER) ,900 5% A:38.400, km:SE 400 34,400, £ +:35.800, H:36.800
8 GRE 3| ! 35400 | 13% |H:35900  H:34,900
R =BG | A4 (IRE) | NUSS 500 [k B 8900
|_NU55 ,100 7,700, 7KK:8.000
|_NU559 ,100 27,700, 7K7K:8.000
|_NU563 ,100 | X:7.700. 7&&:8000
[ NUS65 600
[ NUS67 600
571 ,600
573 ,600
EESE | _NUS62 800 JKA:8,900
[ NUS56 800
[ NUS58 800
[ NUS60 800 _
[ NUS62 100 7,700, KAB.000
[ NUS64 100 X J kA8
[ NUS66 100 56% (:8,800, 7K:8,900 7,700, 7KA:8,000
572 100 56% :8,800, 7K:8,900 X:7,700, 7KA:8,000

JTA



s
[%/BE5 BER(BA19~25AEED)
EREAR 2019/04/26 ~
8/19-25
xn w4 FRITA W78
8 T ara o0 W b33 e
| | BEA AR #51% BAMR
KBR (BT) =448 (FRER) | KB (BEE) %[ _NUoO1 BA | 20600 50% 8,300, £:23,000, H:16,700 458 A1 F:19.500, £:17,000, £:21,100, H:15.600
|_NU005 9,300 7% 13,300, %:9,500, 1:12,900 45H
| _NU009 700 64% 500 45 A:15,100
ohiE (FRER) 3 [_NU002 700 64% 500 458 A:15.100
|_NU004 800 69% 13,31 45H
| _NU008 600 50% | :22,900, £:17,700, 1:17,600, H:27,400 45H 8:21,800, :15.900, 1:16,400, H:26,800
HR(PE)=FE BER(FE) R 07 26,900 61% 129,300, H:28,900 458 :29.200, 7K:24,800, %:26,600, = H:26,900
07: 25,400 63% |+ H:27,400 45H 1 H:25.400
RiEHE 07 25,900 62% | F:26,900, 1:27,900, H:28,900 45H :24,800, 1:25,900, H:26,900
07 1,500 60% 2,800, A1:31,000, H:29,500 45H :39,900, 1 H:29.400
RS |_NUO05 ,.300 60% 300 45H 13,300
|_NU053 1,500 56% 300 45 3,600
|_NU057 ,400 60% 300 45H 500
[_NUO061 900 x 900 45H 300
|_NU063 900 900 45H 300
| _NUO065 900 ,900 456 ,300
b (3PEH) 5 |_NU05S0 900 .900 458 300
[_NU052 900 ,900 458
|_NUO054 900 213,200, 1 H:13,900 458
|_NU058 ,900 3,400, 1:13,900, H:14,600 458
|_NU060 ,900 58% 4,600, 1:14,900, H:15,300 458
| _NUO062 ,500 59% 14,300 458
HER(PHE)=Ed [ EREIE)F| NU021 ,900 52% 3,600, % 1:31.300 458 1:4 28,50
“ﬁg | _NU022 25,900 60% 0,700, 1:28,000, H:27,800 458 61% :38, 700 1 H:25,900
KR (BITE)=HR1E | KR 083 6,500 53% 26,100, %:28,500, +:29,300 45 54% A:25,100, % +:27,200
5% 086 4,200 57% | H:25200, 1:25,900, H:26,900 458 61% | 5:23,400. 1:24,200, H:25,200
ZEE(FE)= ﬁ(;}ﬂﬁ)%‘ﬁ 2 (P &) 1,000 63% | H:22,000, % H:21,400, +:22,500 458 |1 63% |} 21 .900. %EI 21,300, 1:22,200
500 62% | H:22,500, %::23.400, +:23,600, H:21,900 458 62% +:22,200, H:21,800
,800 63% 1:17,000, H:16,900 458 68% ﬁ 15,200, 1:16,100, H:15,900
,800 63% +:17,000, %:25.300, H:16,900 458 68% |} 16900 $::24,800, 1:16,100, H:15.900
ShEE(IRER) R 800 61% 118,000, EI 18,800 458 66% | H:17.900, £:17.400, 1:16,300, H:17,100
800 50% | 54% 23,300, 7k £:21,400, ﬁEI 22,200
.800 52% 54% |} ,300, 7k +:21,400, & H:22,200
,900 63% 65% :18.,400. zﬁ 16,500, % H:22,200, :20,900
FALI=3548 IR ER) 500 35% 39% | & 1:26,500
8 (B R ! 500 35% 39% | H:22500, H:29.100
EEIES R Ph#8 (BRER) 36 |_NUSS .500 55% | K4 56% |/KAH:8.800
|_NU55 ,000 57 63%
|_NU559 ,000 63%
|_NU563 ,000 63%
|_NU565 ,100 66%
|_NU567 ,100 66%
571 ,100 66%
573 ,100 X 66%
EEHRE |_NU552 ,500 55% ,200 458 9,100 56% | X7k A:8,800
|_NU556 ,100 61% 66%
|_NU558 ,100 61% 66%
|_NU560 ,300 60% 66%
| _NU562 ,000 57 458 1,700 63% | :8.800
| _NU564 ,000 458 1,700 63% | :8.800
|_NU566 ,000 X 458 1,700 63%
572 ,000 ,500 458 1,700 63%

JTA



[%1525 SEEXR (8A26~31 BIERS)

EEEAEE : 2019/04/26 ~

8/26-31
FBITA #185178
=] = ¥
B | i sl BABE sl
HRCAE)-RE | B CAE) & | _NUO7 Ef | 26900 | 6% |7K:29,000. +:26600 45B 81 X:25,300, £:24,600
uo7: 25400 | 63% |[+:25,100 458 23,100
BER Uo7 25900 | 62% | H:26900, F:25,600 2588 | 24,800, F:23,600
Uo7 31,000, £:28,100, £:30000 458 28,000, F:27,100
1ER=348 (IR ER) fEms [ _NUoS 2,800 458 800
[ NU053 900 458 600
[ NU0S7 458 600
[NU06 T 400 458 400
[ NU063 400 5 400
[ NUOGS5 400 458 400
[_NU050 400 458 400
[ NU052 400 458 400
[ NUO54 200, 1:12,400 458 12,300, £:11,400
[ NUO58 400, +:12,400 458 800, +:11,900
[ NU060 X 14,600, £:13,400 300, :12,400
[ NU062 500 | 59% 13,000 600
HR(HE)-En [ ERECHE) #| NU021 0900 | 52% |%1:31300 458 00 £:28.500_
#5% | NU022 25900 | _60% | H:28,000, £:32,900. £:31,900 00 9,900, F:28,200
KB (B -BE | AR [ NU083 26500 | 53% |£:28,600. +:28800 5,100, %:27.800. E:27.300
ER 086 200 | 57% [H:25,200, F:23,700 23,400, :22,100
B (P50 = IV [ & 2 (R ) 000 65% 21,000, £:20,400, +:21,500 20,900, %:20,300, £:20.500
500 | 64% | H:21,500, %:22,400, +:22,700 £:21.400, £:22,200
200 | 67% | H:15.400, %:16,300, £:16,500 %:15.200, +:15.100
200 | 67% 15,400, £:25.300, +:16,500 115,200, %:24.800. £:15.100
ErCE] 400 | 66% 16,500, 16,300, A:15.200. E:15,800 4,200, 7K:15.200, 13,100, :15,300. £:14400
20800 | 55% | H%:22,500. /K:20,500 18,700, 7K:20.400. £:19.400
22500 | 51% 8,800, 7K:20,500. 19,300, £:19,800 7.700. 7K:20.400. £:18.200. £:19.400
17,600 | 62% 3,900, K:15,600, 7:14.400, %:22,000. £:19,300 2,800, 7K:15,500, :13,300, £:21,900. 18,900
[EIMEET e ) [_NUO 26500 | 35% 9,600 [££:26.100
[ NUoT 26500 | 35% [B:25500
e [_NUS5 500 | 55% [K£8.800
[_NU55 000 57 [£:6.700. £:6.600
[ NU559 000 [£:6.700. £:6.600
[ NU563 000 [£:6,700, +:6,600
[ NUS65 100 [£:6.200, £:6.100
[ NUS67 100 [£:6.200. £:6.100
571 100 [£:6.200. £:6.100
573 100 200, £:6.100
BEEE | _NU552 500 | 55% 8,800
[ NU556 100 | 61% 400, %:7.700. 7,100 700, £:6.100
[ NU558 100 | 61% 400, %:7.200, 7,100 200, £:6.100
[ NUS60 300 | 60% | H:8500, £:7.200. £:7.100 200, £:6.100
[ NUS62 000 57 17,800, £:7,600 700, £:6,600
[ NUS64 000 7800, £:7,600 700 £:6,600
[ NU566 000 7800, £:7,600 700, £:6,600
572 000 7800, £:7,600 700, £:6,600




MEB8E5| 1 BER(TA12~15BEESH)

SEEEA R 2019/04/26 ~
RPN R 7/12 7/13 7/14 7/15
- 4 i::]” i::;” FBITA] KR317E] TRILTA] K7 E| KRALTA| @I7E| RRITA| HRITE
AR | BAE EER | EEHE | EE% | @8R | EEH | #8858 | S84 | 888
K (EZ8) =948 (AE) | ADR (BE) 5 28H [F] 25300 | 24.200 33.800 16900 | 11,300 14100 | 11.300
28 18.200 13.000 19.200 8.700 9.000 8.900
28 24,000 | 21,000 14,500 100 18,000 | 15000
PHE G %[N 28 600 8,500 ¢ 20.300 17.500
28 200 8.100 23,700 | 20700 |
28 200 8.100 4.300 00
WRECRR)=RE R CRE) # 28 44,800 29,500
28 42200 | 37.400
hiER 28 35,200
28 300
1RRE=i0 48 (RE) EEEES 28 500
28 200
28 500
28 20,000
28 20,000
28 22,500
ik (RER) R 28 18.800
28 20,500
28 900
28 800
28 900
28 600
RRECAR)=8H 28 .200
28 .200
KR (BFE) =R 28 36.300
28 32,100
IMR=EE () 28 29,400
S (IR ER) 28 24,500
BEE (P =048 (BB & B (hER) u 28 25,900
28 25,900
u 28 19,400
28 26.100
i IR ER) 56 [ NU 28 .600
28 400
u 28 .400
28 300
FEIL=3#8 GIRER) Fi LI 5 28 35,800
S (IRER) %[ 1 28 29.700
WOERH) == RE) £ 28 400
28 400
28 400
28 400
28 300
28 .300
28H 300
28H 600
EEES 286 400
28H .200
28H 200
28H .200
28H 400
28H 400
28H 400
28H 400

JTA



rEJE5 EERCAI1BERS) JTA

BEEMAE : 2019/04/26 ~

5BIMTA| %B87B

8/1
K/ITA| £187B

(=40}

el
®

T FH . [

= | mase EER | EE®

RE(PE)=FHE R CFIE) 5[ _NU07 280 H 32,200 27,600
Uo7 28 28100
Uo7 28 29,600
Uo7 28 32,100
uozi | 28 31,500
U022 | 28 31.100
KR (B8#8)=H1E  (A75) % | NU083 | 28 35,200
ER U086 | 28 26,400
AHE (hE) =48 (BB R HE (FHD) U043 | 28 20,500
U045 | 28 1.000
U047 | 28 7.800
U 28 800
ik (FRER) F|_NU 28 800
U 28 800
u 28 800
28 900
R Li=348 (R 0) [ u 28 32,800
s (IRER) [ NU0T6 [ 28 32,800
SHRERE) =B P48 (FRER) FE [ _NUSST | 28 100
55 28 00
U559 | 28 00
563 | 28 00
565 | 28 300
| NUS67 | 28 300
U571 | 28 300
573 | 28 300
EHRE U552 | 28 100
556 | 28 600
| NUs58 | 28 300
560 | 28 300
U562 | 28 100
564 | 28 100

c
o
&y
E3
o
&
=
S

5
<
S
o
o
=
S




MEB8E5| 1 BER(BAI~12BEESY) JTA

BEEMAE : 2019/04/26 ~

RPN D 8/9 8/10 8711 8/12
=1 wy | R O A &3 (7B | I A] KRATE| AT A] RA(7E| AT A] I
WaoE | maoE | EE® | BEW | EEW | 8AW | EAW | 8AW | AW | 8AW
ENACEDES 288 458 32,400 28,000 37.800 36.800
28 23.300 [_23.200
28 28,400
F#E(FRER) % [_NU002 | 28 18.200
28 9.200
28 19.800
RR(CRE)=R1E HR(PE)F 28 43,000
28 43.400
HER 28 39,700
28 43.200
1BRE=h 4% (IBE) BER 28 22,900
28 25,000
28 2,100
28 7.800
28 7.400
28 7.800
RE) £ 28 1,000
28 20,500
28 21,400
28 20.700
28 22,400
28 21200
RRCAE)=8H 28 58,900
28 41.900
KR (B#)=F18 28 37.400
[ 28 27.900
BEE (P =H4R (BB B & B (hER) 28 30500
28 400
28 400
28 200
TR (RE) 5 [_NU 28 .500
28 25,600
U 28 26,400
28 26.400
FEIL=h48 () Fi LI 5 28 38.900
S0 (FRER) % 28 400
SRR =R1E RE) £ 28 ,000
28 300
28 ,300
28 300
28 ,200
28 100
28 ,200
RER 28 500
286 500
286 200
286 200
286 10.000
286 10,000
286 9.800
ROERT == G IE IS 28H 10.300
286 500
286 500
286 800
286 500
286 500
286 500
286 800
HE 5 28H 800
286 200
286 200
286 200
28H .400
286 400
286 500
286 500
PRBH)=ARE [ RGBT R 28H 10.300
286 10.300
AKBF 28H 10,000
286 8.100
286 8.100




MEB8E5 1 BEER(BA13~16BEESH)

SEEEA R 2019/04/26 ~
RPN R 8/13 8/14 8/15 8/16
=1 wy | R O A | %317 E| ERITA] KRA7E| AT A] (7B | AT A] ERITE
WaoE | maoE | EE® | BEW | EEW | 8AW | EAW | 8AW | AW | 8AW
KR (BAE) =ik (RF) | KB (BIEE) & 288 B 23,200 22,000 1,500 .100 24,100 24,000 22,700 .500
28 .900 14.900 16.800 .900
28 900
bk (RER) | N 28 .000
28 100
28 1.300
RR(CRE)=R1E HR(PE)F 28 2,100
28 2.100
hiER 28 9,700
28 47.200
1BRE=h 4% (IBE) EEEES 28 19.800
28 20,500
28 300
28 300
28 300
28 .900
ik (RER) R 28 20,000
28 .100 )
28 1400 900
28 400 20,400
28 900
28 .100
KR (BFE) =R KB (BA7E) 5 28 ,400
HiE% 28 25.700
MR=3EE GIRER) NN 28 34,500
S (IR ER) % 28 35,500
BEE (P =H4R (BB B & B (hER) u 28 33,000
28 37.900
u 28 23,000
28 22,400
b IR ER) 56 [ NU 28 24,000
28 29,000
u 28 29,000
28 29,000
FEIL=3#8 GIRER) Fi LI 5 28 38.400
S (IR ER) % 28 38,900
SHRERE) =B RE) £ 28 ,800
28 300
28 300
28 600
28 000
28 .000
28 000
28 300
EEES 286 10,000
28H 200
28H 200
28H .200
28H 700
28H 400
28H 700
28H .700
B =AKE | HERE) R 28H 10.000
28H 7.800
AKBHE 28H 10.300
28H 10.300
28H 10.300

JTA



MEB8E5| 1 BER(BA1T~18BEES) JTA

BEEMAE : 2019/04/26 ~

RPN DR 8/17 8/18
R &% i:i: A i:i: B[ @a7A| @I17B| AHTA| £@ITE
AR | BAE EER | EEHE | 58 | @888
KR (BAE) =ik (RF) | KB (BIEE) & 28H =] 23,200 23.100 21.600

28 8.600
28 21,600
F#E(FRER) % [_NU002 | 28 25100
28 23,900
28 800
RR(CRE)=R1E HR(PE)F 28 .200
28 700
AER 28 .000
28 300
1BRE=h 4% (IBE) EEEES 28 19,500
28 20.200
28 20,600
28 100
28 100
28 500
RE) £ 28 ,000
28 .200
28 .900
28 20,400
28 20,400
28 19.000
RR(HE) =24 HECHE)F| N 28 44,600
R 28 47.300
MR=3EE GIRER) NN 28 30.500
S (IR ER) % 28 34,500
BEE (P =H4R (BB B & B (hER) u 28 29.100
28 4.000
u 28 7.400
28 7.400
b IR ER) 56 [ NU 28 1,700
28 9.800
u 28 38,800
28 38,800
FEIL=h48 () FE LU 58 28 26.600
S (IR ER) % 28 38,900
SHRERE) =B RE) £ 28 800
28 500
28 500
28 500
28 200
28 200
28 200
28 500
EEES NU552 | 28H 10.300
NU556 | 28H 700
NU558 | 28H 700
NU560 | 28H .700
NU562 | 28H 800
NU564 | 28H 500
NU566 | 28H 500
NU572 | 28H 500
SRR =AKE | EEGRE) | _NU211 | 288 10.200
NU219 | 28H 8.400
AkBF | NU0S0 | 28H 10.300
NU212 | 28H 10.300
NU218 | 28H 10.300




[R—/—%BIBER(6A20~21BERS) JTA
SEFEAA - 2019/04/26 ~

6/20-21
FH A—N—%F
=4 E& -
BB | g | TR0 i
BEE (PED) =04k (R |8 & 2 (hER) u 55 .900 77% [ A:13.700, £:16.000, +:17.300, H:13.300

u 55 ,900 7% H:13.700.,

u 55 300 79% | H:12.600.

u 55 300 79% | H:12.600.
PRE (BT 5 [_NU 55 800 77% [ H:11.000.

u 55 13.700 68% | KA:9.900.

u 55 13700 | 68% |JK:12.200. A:12.700. H:17.600

u 55 13.700 68% X7K:12,200, A:12,700. H:17.600




TR—N\—%FGIEEXR(6A22~308EFEN)

EEEAA : 2019/04/26 ~
6/22-30
FH A—N—%F
=4 E& -
BB | g | TR0 i

BEE (PED) =04k (R |8 & 2 (hER) u 55 .900 77% [ A:13.700, £:16.000, +:17.300, H:13.300

u 55 ,900 7% F:13.700. %:16.000. £:17.300. H:13.300

u 55 .200 79% | H:12.300, £:9.600. & H:11.600

u 55 .200 79% | H:12,300, £:19.900, £ H:11.600

S8 (BRER) % [_NU 55 600 78% | H:11.600, % 7:9.000

u 55 13.700 68% | A:9,900, /K+:11,900, B:17.300

u 55 13700 | 68% |JK:12.200. A:12.700. H:17.600

u 55 13.700 68% X7K:12,200, A:12,700. H:17.600

JTA



[R—N—%FIEEXRTAI~11BERESD)

EEEAA : 2019/04/26 ~
7/1-11
% A—R—5%"
= anm M
EEE B51% W&
R (FE)=-RE HRCRE) % 20700 | 70% | +:25.200. H:22.700
18200 | 74% |+ H:20.200
HBER 19.700 | 71% 700, £:21.700, H:22.700
20700 | 70% 2,700, H:32.000
[EERLEETE ) [EEES .500 68% .500
.700 65% ,.800
500 | 68% 500
,000 70% .000
.000 | 70% .000
,000 70% .000
bk (RER) R .000 70% .000
,000 70% .000
.000 | 70% |%:10.700. £ H:11.000
500 | 68% |#:11.100, +:11,500. H:12.100
000 | 67% |%:11.700. £:12.000, B:12.700
.500 68% . 11,500
RRECABR)=Bd EAEED .500 65% 29,000, H:24.400
EER 500 | 65% ,400. H:31.200
Az (B#E)=R1E KR (BAT) 5 500 69%
HER 000 | 70% |H+:18500, H:20,000
M= () INENFE .700 61% g
SR (ARER) ¢ 700 61%
A EE (FER) =348 (B 8)|& & B (F35) 400 | 75% 119,700, +:20.800. H:15.600
5 9900 | 78% 4,800, £:19,700, £:20.800. H:18.200
7 100
U049 | 55 ,000
PR (ADER) 55 200
u 55 600
55 200 7
u 55 .200 7 ) E
FELL=30 48 (FRE) [EITED 55 500 | 52% |&+:27.000
ShiB (FRE) S | NU 55 .500 52% :26.400. £:22,500, H:30,000

JTA



TR—N—%FGIHEER(TA16~24BEFEN)

EEEAA : 2019/04/26 ~
7/16-24
X A—N—%F
= anm M
EEE B51% W&
R (FE)=-RE HRCRE) % 100 | 65% |£:28.900. H:26.200
600 | 67% |+ H:24.700
RERE 100 | 66% | H:24.100. £ H:24.700
100 | 65% |[+:26.200. H:29.200
[EERLEETE ) EEEES .900 64% [+ H:12.900
,000 61%
000 | 64%
.600 65% ,000
600 | 65% 000
.600 65% ,000
i (AR .600 65% .000
.600 65% ,000
600 | 65% t H:12.000
100 | 64% 2700, £ H:13,000
600 | 62% |+ H:13.000
,000 64%
R (FE)-EH e CHE) % 25800 | 60% 27.700
EE%E 23300 | 64% 300
Az (B#E)=R1E KR (BAT) 5 .800 46% 31.100
AESE 900 | 65% :21.600. H:23.100
M= () INENFE .700 61%
SR (ARER) ¢ 700 61%
BEE (PED)=HHE () |8 & 2 (hER) .400 73% £:20.700. +:21.700. H:19.200
1900 | 76% 00. £:20,700. +:21.700. H:19.200
100 00
,000 00
PR (ADER) 200 400
,000 000, F:19.400. H:21.700
200
.200
FELL=3548 (RER) FALFE .800 39 : .
Sl (RE) 5 800 | 39% [H:28,500. H:32.100
SHER (BB =EE SRR CBRER) ¢ [ ! 8.200 1 KA B:7.900
7.000 7%
7.000 7
000 7
500 69
500 69%
500 69%
500 69%
EEES .200 61% [ AIKAK:7.900
500 69%
500 69%
500 69%
.000 7
000 7%
7.000 7
7.000 7%

JTA



TR—N\—%FGIHEER(TA2~31BEEN)

EEEAA : 2019/04/26 ~
7/25-31
X A—N—%F
= anm M
EE | mimix %
R (FE)=-RE HRCRE) % 100 | 65% i 27,500, H:26.200
600 | 67% £ H:24,700
HBER 100 | 66% | H:24.100. k£ H:24.700
100 | 65% [/K:26.900. +:26.200, H:29.200
== R E) (RS 900 | 64% |7k:13.000. £ H:12.900
,000 61%
000 | 64%
.600 65% |7} ,000
600 | 65% | 000
.600 65% |7} ,000
i (AR .600 65% |7} 000
.600 65% |7} ,000
.000 :11.600
100 1 B:13,000, £:12.700
.000 B kK:12.600
,000 b
RRECABR)=Bd EAEED 25,800 60° 27.700
EE%E 23300 | 64% 2,300
KR (@) =RH1E Iz (PH7E) % .800 | 46% :28.200. 1:31.100
AESE 900 | 65% | H:21.400, 7K:22.200. +:21,600, H:23.100
M= () INENFE .700
SR (ARER) ¢ 700
AR (P E) = 8| & E (F ) 400 :17.800, £:20.700. £:21.700. H:19.200
800 00. £:20700, £
100
,000
PR (ADER) .200
.600
.000 1
.200 7
FELL=3548 (RER) FALFE .800 39
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